Sayreville Special Services Department 2023 Summer IEP Work Attachment D-2

Projected Hours & Cost

			Trojecteu flours & cost						
Last Name	First Name	Position	Case Management	IEP Meeting	Evaluation	TOTAL	RATE	COST	
Alberta	Jennifer	Special Education Teacher	0	0	0	0	\$60.00	\$0.00	
Alfano	Christina	Speech and Language Therapist	3	6	22	31	\$60.00	\$1,860.00	
Arvanites	Robert	Gen Ed Teacher	0	1	0	1	\$60.00	\$60.00	
Babst	Robert	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Barone	Samantha	School Psychologist	10.5	17	88	115.5	\$60.00	\$6,930.00	
Barreiro	Jennifer	Social Worker	59.5	38	143	240.5	\$60.00	\$14,430.00	
Beinert	Heather	Special Education Teacher	0	0	0	0	\$60.00	\$0.00	
Bellina	Lauren	Special Education Teacher	0	0	0	0	\$60.00	\$0.00	
Bergfeldt	Susannah	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Boehm	Kristen	Special Education Teacher	0	1	0	1	\$60.00	\$60.00	
Bolster	Kerri	Special Education Teacher	0	0	0	0	\$60.00	\$0.00	
Borrell- DeMaio	Lizabeth	Physical Therapist	0	1	5.5	6.5	\$60.00	\$390.00	
Bresocnik	Kerri-Ann	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Brooks	Rachel	Gen/Spec Ed Teacher	0	3	0	3	\$60.00	\$180.00	
Brown	Melissa	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Buonpane	Lauren	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Caballero	Kari	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Carkeek	Kimberly	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Cerbone	Leeann	Special Education Teacher	0	0	0	0	\$60.00	\$0.00	
Cheney	Lauren	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00	
Chita	Tania	Speech and Language Therapist	0	4	22	26	\$60.00	\$1,560.00	
Ciampa	Melissa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00	
Cohen	Jennifer	School Psychologist	52	33	71.5	156.5	\$60.00	\$9,390.00	

Condurso	Lynn	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Dean	Bridget	Speech and Language Therapist	0	3	22	25	\$60.00	\$1,500.00
DelPiano	Shannon	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
DelPlato	Melssa	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
De Sena	Michele	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
DiBernardo	Gina	LDTC	10	15	77	102	\$60.00	\$6,120.00
Duda	Jeanna	Gen Ed Teacher	0	4	0	4	\$60.00	\$240.00
Esteban	Syra	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Fazzini	Caileigh	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Fazzini	Jared	Social Worker	7.5	14	66	87.5	\$60.00	\$5,250.00
Fritz	Kristine	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Gallucci	Jade	Speech and Language Therapist	0	8.5	16.5	25	\$60.00	\$1,500.00
Garnett	Alyssa	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Gates	Linda	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Giarraffa	Tara	Occupational Therapist	0	2	11	13	\$60.00	\$780.00
Gioia	Amy	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Giorgianni	Alexa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Golda	Jennifer	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Gonzalez	Marisol	Occupational Therapist	0	8	27.5	35.5	\$60.00	\$2,130.00
Good	Cynthia	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Goscienski- Lynch	Nicole	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Grascia	Anastasia	Speech and Language Therapist	0	5	22	27	\$60.00	\$1,620.00
Grove	Meghan	LDTC	4.5	12	38.5	55	\$60.00	\$3,300.00
Hall	Eric	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Haney	Victoria	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Hoehman	Jordan	Gen Ed Teacher	0	1	0	1	\$60.00	\$60.00
Hoff	Katie	Gen Ed Teacher	0	1	0	1	\$60.00	\$60.00
Horvat	Cvetelina	Special Education Teacher	0	0	0	0	\$60.00	\$0.00

Howard	Eddie	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Howard	Regina	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Iglesias	Nina	Gen Ed Teacher	0	3	0	3	\$60.00	\$180.00
Kong	Cecily	Social Worker	7.5	12	38.5	58	\$60.00	\$3,480.00
Kraus	Rachel	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Kutcher	Amanda	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
LaForge	Kristen	Speech and Language Therapist	0	4	12	16	\$60.00	\$960.00
Laurie	Antoinette	Gen Ed Teacher	0	1	0	1	\$60.00	\$60.00
Lawlor	Christine	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Leonard	Michelle	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
LoCascio	Renee	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Loch	Deanna	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
McGarry	Jillian	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Mendez- Sanchez	Evelyn	School Psychologist	17	22	93.5	132.5	\$60.00	\$7,950.00
Merrick	Michelle	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Minnuies	Laura	Gen/Spec Ed Teacher	0	1	0	1	\$60.00	\$60.00
Mondano	Jennifer	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Moose	Rachel	Speech and Language Therapist	0	4	22	26	\$60.00	\$1,560.00
Moran	Hannah	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Morosco	Gineen	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Novak	Jaime	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
O'Donnell	Joseph	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Olesky	Kristin	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Oleszkiewicz	Jessica	LDTC	1.5	30.5	143	175	\$60.00	\$10,500.00
ONeill- Fleschner	Kerry	Special Education Teacher	0	3	0	3	\$60.00	\$180.00
Parlagreco	Erin	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Pawelek	Lisa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00

Petrone	Kelly	Occupational Therapist	0	4	16.5	20.5	\$60.00	\$1,230.00
Picazio	Afrouz	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Pullman	Sheryl	Occupational Therapist	0	5	16.5	21.5	\$60.00	\$1,290.00
Rivers	Jimeka	Social Worker	12.5	13	60.5	86	\$60.00	\$5,160.00
Rolwood	Eileen	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Rottenberg	Rachel	Speech and Language Therapist	0	2	11	13	\$60.00	\$780.00
Rupp	Cori	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Santiago	Kayla	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Santoro	Caitlin	Speech and Language Therapist	0	10.5	22	32.5	\$60.00	\$1,950.00
Satterwhite	Kasia	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Schaub	Jessica	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Shah	Kashyapi	Speech and Language Therapist	0	2	22	24	\$60.00	\$1,440.00
Shultz	Raiza	Speech and Language Therapist	0	4	16.5	20.5	\$60.00	\$1,230.00
Terebetski	Jessica	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Terrano	Megan	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Tiberi	Debra	Occupational Therapist	0	0	0	0	\$60.00	\$0.00
Toye	Daniel	Gen Ed Teacher	0	1	0	1	\$60.00	\$60.00
Tracy	Danielle	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00
Trapanese	Alissa	School Psychologist	10.5	22.5	99	132	\$60.00	\$7,920.00
Vella	Maria	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Vogel	David	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Brooks	Rachel	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
West	Colleen	Gen Ed Teacher	0	0	0	0	\$60.00	\$0.00
Whiteley	Kelly	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Wilkes	Amanda	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Zalnieratis	Lisa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
TOTALS						1728		\$103,650.00